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Second Exam

True/False

For #1-8 write the entire word “ITrue” or the entire word “False”.

L) (z+y)" =a" +y"

2) ii=%

3) Ve ty=<zr+ 3y
4.) (zy)" = z"y"

5.) /7Y = Yy

6} C) =2

7.) a(b+c) =ab+ac

8.) 3z — 42?2 + x — 2 has 4 roots.
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Algebra
9.) Find z where (z + 5)% + 20 = —7.

(2+5)'=-27

10.) If g(z) is an invertible function, and g(4) = 8, then what is g7(8)?



11.) Find the inverse of f(z) = 4v/z + 1 + 3. (You can check your answer

by seeing if f~lo f(z) = x.) ﬁ)S )
| 2= ()~
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12.) What is the implied domain of g(z) = —v/3z — 5 + 1822 — 37 (Write
your answer as an interval.)

Rx-520
o B
X254

[54,0)

13.) Suppose that a # 0 and that b* —4ac > 0. Write the following number
as an integer in standard form:

(T (A,

O




62* — 923 + 1622 — 52 + 9
322 +2
T O B s |

342 [62% 4% [ x 252 +9
¥ ity =
~Ix 2 +)22* -5x +9

14.) Find

S =G

1222+ o * 7
Pi= e + 9
— ~ + |

5y ping 2 Tatl
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7 -l 22 i3

16.) What is the slope of the straight line in R? that passes through
the points (4, 3) and (6,7) ?

7-3 4 _
-t "7 74




17.) Complete the square: Write 42 4+ 4z — 3 in the form a(z + 8)% + v
where a, 8,7 € R.

4 \2 "
t(x*57) -3~ gy = TEeE) -3
= g+ )4
18.) How many roots does 3z* — 2z — 10 have?
() -4(3)(-10) = 4 |20 >0
8 2 roots.

19.) Find the roots of 22 — 2z — 10

A L TN DR
2(1) _ 2

H

1\
1+

20.) Find a root of 3z3 — 4% — 3z — 2

3(2P-4(2) -3(2)-2 = 24-)6-6-2
T



21.) (2 points) Completely factor 223 + 22 — 13z + 6. (Hint: 2 is a root.)
(Your answer should be a product of a constant and maybe some linear and
quadratic polynomials that have leading coefficients equal to 1, and such that
any of the quadratics in the product have no roots.)

212 1 -13 (£ Piscriminant O‘[‘\ 212*'51-3
is 52-4(2)(-3)=25 + 249
L IO . Root
DOTS a4are
1 5 ~E‘> 0
-6 -f—m—, _5+7 /7—‘5‘;—::-_.4.2--
2x3+x%- 13246 2(2) 4 \)—%'-"z,?"sé
Y So Com]:lg't,,l)/ %C’I‘br‘ea( B
(x-2) (2x*+5x- 3> X R} ) 1
21 % 1S 2x%+5x-3 = 2(11-3)(1- 4)
2()&-:»3\ (x_%_>

22.) (2 points) Completely factor 223 + 62 + 8z + 8. (Hint: -2 is a root.)
(Your answer should have the same form as described in #21.)

2|z ¢ 3 8 | DiscCiminant o Ztt2yry
4 4 -8 s (2)"-4(G)(¢)-4-32<0
7 2 4 O SO o rosts.
ComPla-tz)/ Drctoed foem
2 x>+61% 8x+ 8 (s 2xPeaartts 2(xtexel)

/\

(i*l» (27(, +2;L+c(—)

(23 ( X +x+2_>
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Graphs

23.) List all of the monic linear factors of p(z) that you know of from the
graph below.

=% o -1 O \ 2 3 & 7
S /
S
/ —
yoots: =l 5

/

factors: axl o=t

24.) Graph@@and label its z- and y- mti];cfp S o xetf

X-int?
\fexe:;‘n S\u];f 1&"1" ?“ih‘l" ZW: L{-
25.) Graph \@— 1 and label its Z- and y-intercepts.
5 sk 7 x—iwt-'.""’/z-[:o =) A=
\::i'. G 5\‘-(‘:*&0‘“ 1 “int +) /2. == -]
26.) Graph 3z — 2 and label its z- and“y-intercepts.
L-int: 3x-2z0 = x=%)
?—iv‘l‘ﬁ %22 3:0-2 = -
27.) Graph =2(z - 2)? ;Land label its vertex. (You don’t have to be
accurate with #ie z- a y—1r;§rcepts.)

f;:]f ‘ : Lﬁ"j‘:*@. s\ down 1.
W down r\'?\‘\‘z



